WORKSHEET YV

trigonometric limits (review)
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I Evaluate each of the following limits or explain why the limit fails to exist.

. Sin4x
1. lim

x—0 X

. tanbx
2. lim

x—0 X

. Sin2x
3. lim—

x-0 Sin 8X

. Sin13x
4. lim

X—0o0 X

. C0S3X
5. lim

x—0 X

] (1
6. lim xsm(—j

X—0+ X
7 cos11x
" x>0 cos13x

. tan®x
8. Ilim 5

x—0 X

sin® x

9. lim

x—0 X

. x
10. I|mu

x—=0+ X

2
11, fim XX =9)(x=3)
X—>5— | X_5|




1-cosx

12. lim

x—0 X

. X-5
13. lim, |——

x5 | Xx+1

. sin(sin x
14. Im#

x>0 gIn X
15. lim x cscx

x—0

. (x+4)(x-3
16. lim &*+9(X=3)

X—3— | X _3|
17. lim cos(1/ x)

x—0

And what part of ; F
Iring sin (a + Z)- sin(a) = cos(a)
R— don't you understand?
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18. lim v9 - x?

X—>3—

I 1. Prove that lim 2=,
x—-0 X

2. Prove, using (1

1-cosx

) and a trigonometric identity, that lir’%
X—

used to love mathematics for its own sake, and | still

do, because it allows for no hypocrisy and no
vagueness...

- Stendhal, The Life of Henri Brulard
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